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Case A:  Channel sets needed for this reuse distance? ____
               Channels/cell for this reuse distance, based on 400 channels? ____
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Case B:  Channel sets needed for this reuse distance? ____

               Channels/cell for this reuse distance, based on 400 channels? ____
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This cost curve and the two that follow are for a reference case assuming 4-mile radius cells at start-up, a 7-cell reuse pattern and 400 channels.  Draw an approximate cost curve for 2-mile radius cells at startup; 7-cell reuse pattern and 400 channels
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Draw an approximate cost curve for 4-mile radius cells at startup; a 16-cell reuse pattern and 400 channels
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Draw an approximate cost curve for 4-mile radius cells at startup; a 16-cell reuse pattern; and 200 Channels
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